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Psychology

Paper II

HEAAITEH
goatent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

Profound anterograde amnesia
results from accidental injury or

surgical removal of the :
(A) Hippocampus

(B) Hypothalamus

(C) Pituitary gland

(D) Cerebellum

Which one of the follwing problem-
solving strategies, though time

consuming guarantees solution ?
(A) Algorithm

(B) Heuristics

(C) Study of the problem in parts

(D) Trial and error

TR IS THAAT BT HIMeAT

STTETANIS STer e IAThAgR i

SR URUTE AR ?

(A) STRFHH

(B) SAHT=ATH

(C) fugfererr weft

(D) SAHETR

T RV T PRI W,

JES AT X ST @l ed ?

(A) STHIREH
(B) &t
(C) 9IH=EY ORI 3T

(D) TIA-THIS

[P.T.O.



Which of the following biochemical

is central to the stress response ?
(A) GH

(B) MAO

(C) GABA

(D) ACTH

A person with moderate mental
retardation has an IQ in the

following range :
(A) 20-35

(B) 35-50

(C) below 20
(D) 50-70

A busy housewife may not be happy
with the sudden arrival of guests,
but instead of showing displeasure
she may be too hospitable to them.

This defence mechanism is called :
(A) Reaction formation

(B) Displacement

(C) Compensation

(D) Projection

MAY - 13216/II—D

O STfShET SUATA SRV STeRETHAT=
Tl fiRr Ty ?

(A) GH

(B) MAO
(C) GABA
(D) ACTH

Higte AfdHEE STHeiedl RKital JG1h

B T STE
(A) 20-35
(B) 35-50
(C) 20 =1 @reil

(D) 50-70

MEUATA HTIh AUATHes BUA oA
STHURT Wit haltaa STHed St 9d,
T e ANST T SrEedl @ =T
TEUER . A TR FARAH FE
U ?

(A) wfdfswan =0
(B) fa=em=

(C) Hfaqur
(D) F&T




A test has mean of 40 and standard

deviation of 8. If the scores are

normally distributed, what would be

the percentile rank of 48 ?

(A) 60

(B) 68

(C) 84

(D) 90

Which of the following is not a

neurotransmitter ?

(A) Acetylcholine

(B) Serotonin

(C) Dopamine

(D) Prolactin
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T = HEF 40 & YA ferere

8 3TTe. UTATehT ToraoT JHTH= ST,

48 A1 TR AT UMIHH hTd

A ?

(A) 60

(B) 68

(C) 84

(D) 90

Wrelle A §oF IaraRseh ATEl 2

(A) THfETRIAR

(B) S+

(C) ST

(D) Wreffaed
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The monocular cue to distance in

perspective drawings is :

(A) Linear perspective

(B) Aerial perspective

(C) Gradient texture

(D) Height in the horizontal plane

Which of the following is a correct

learning acquisition sequence ?

(A) Drive—cue—response—

reinforcement

(B) Cue—drive—response—

reinforcement

(C) Cue—response—drive—

reinforcement

(D) Drive—response—cue—

reinforcement

8.
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TRgw oo STl TR =

HIV MR ?
(A) Y& g
(B) SfaRef™ qigsd
(C) wevUreh O

(D) fariisl THIR gs3UMTIcer =it

EATeAUehT ShIvIdT STEIFTEIR S SIe

AqE ?

(A) TEGAT—Hehd— 3TfshaT—

EEGIETL
(B) Hehd—T=gATI— 3TIfoha—

EEGIETL
(C) Hehd— STfhaT—T=IRAT—

EEGIETL

(D) TERAI— T fohaT—Hehd—
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10.

11.

The working memory is markedly

affected by :

(A) Attention

(B) Motivation

(C) Emotion

(D) Interest

In Guilford’s model of problem
solving, which of the following occurs

first ?

(A) Input

(B) Filtering

(C) Cognition

(D) Production

10.

11.
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T TR IR0 HIOR Tewh

HIOTAT ?

(A) 3TTYH

(B) 9Yom

(C) HE&

(D) Afw=t

e UiErr= fiawe ar=n fagiand

WATAUh! hI0d FoIH FSd ?

(A) wIfEdT =0y

(B) Tesull ATel

(C) e

(D) WeRH
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12. Which of the following statements

regarding achievement motivation

are true ?
(1) It is a stable learned
characteristic in which

(2)

(3)

(4)

satisfaction is obtained by

striving for excellence

People with high on need for
achievement seek out situations
in which they compete with

some standard of excellence

People with high n-Ach do not
choose such tasks in which

success is unlikely

People with high n-Ach tend to
be motivated primarily by a

desire to avoid failure

Codes :

(A) (2), (3), (4) only

(B) (1), (3), (4) only

(C) (1), (2), (4) only

(D) (1), (2), (3) only
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12. HURH GI0ETed SITelaTdeh! 10T

faum = omea ?

(1)

(2)

3)

4)

HURAIRON  STeFATSia e [ur-
afyrse oy, SAWE IERSdA

TRIHTSSHeS 3THE U< 2ral

e JRON S<aesI= STHeT el

Ay qRIEed T Hellahsed=a

TATSN T HLOATET G hiard

1 AR WG SeagSiEt

3R, O S L] STHYTAT 278,

T fered e
3R, T STIIY 20T o5 &I
UG el 3TEa

che

[N

(A)

(B)

()

(D)

(2), (3), (4) B

(1), (3), (4) B

(1), (2) (4)

(1), (2), (3) &




13.

14.

Sternberg identified three kinds
of components of intelligence. They

are :

(A) Alpha components, beta

components, meta components

(B) Meta components, performance
components, ability acquisition

components

(C) Knowledge acquisition
components, skill acquisition
components, ability acquisition

components

(D) Meta components, performance

components, knowledge

acquisition components

On the Rorschach test, an M score

would be scored under :
(A) Location

(B) Determinants

(C) Content

(D) Form level

13.

14.
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Ao ATfiaeiel gigHTd o Bk, o

T e BN :

(A) ATHT e, fae1 ®ITHh, HA

¥deh

(B) 21 T, Fdl HIeh, THAI-GUEH

¥dh

(C) IME-TURA ©Hh, HIeeI-TUEH

Teh, HHA-HIRA ¥Hh

(D) WA ¥eH, Fdl TSH, JAA-TURHA

¥deh

et == ‘T ' @RISR Jeradent
oA fqurd a4 ?

(A) &HIH
(B) feetfireq
(C) ==

(D) wH A
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15. A newly developed extraversion

scale was correlated with the

extraversion scale of the Eysenck

Personality Questionnaire. The

sample size was 400. The obtained

correlation of 0.22 was found to be

significant at .01 level. This provides

evidence for :

(A) Satisfactory parallel form

reliability

(B) Unsatisfactory parallel form

reliability

(C) Satisfactory concurrent validity

(D) Unsatisfactory concurrent

validity

MAY - 13216/II—D

~_ ¢

15. TH Fdforenidd sfgderd == i

AIF TEATAS TSI wfg-

HEa Thd AHed GeHeY HIeUdTd

ST, THATTE 400 KT Bid. THesreren

0.22 B gAY HIfEIHIag AT

AU B, B JEAUR! HAA I

AR ?

(A) FHIETTRTIH el ®Y
ICLELSEIRG]

(B) AGHTENTRTIH  gId &7

ICEEERIR]

(C) FHIHTRIh FHeIdt e

(D) AU THAAl ST
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16. Split brain studies are possible due | 16. Wfed Hfass 7AW, § STTEHR=
to surgeries for intractable epilepsy IAfFHIESY GYad. O S Gfed
which sever the : ;T 2
(A) Superior colliculi A) ﬁtﬂﬁ?ﬂ? W
(B) Corpus callosum B) w o {

(C) Cingulate gyrus .

(C) Togeie T
(D) Central canal ) .

(D) He@ HAA

17. According to Biederman’s o
‘recognition by components’ theory 17. sretHT=an ‘IRIeE o wuHey,
of perception, edges have the SEENIRSINE ISR IRCISIS T[UT Sh[qHH Y]
following invariant properties : ST
(1) Curvature (1) dashdl
(2) Co-termination of light shade (2) YF YHRRMET ThiAd 37
(3) Symmetry (3) wHfH
(4) Collinearity (4) FEEE
Select the correct option from the e feoe Fede I T feel
codes given below :

He
Codes :
(A) (1), (3) T (4) ®e
(A) (1), (3) and (4) only
(B) (2), (3) T (4) ®e
(B) (2), (3) and (4) only
C) (1), (2) 9 (3) T
(C) (1), (2) and (3) only R G S
(D) (1), @ and (4) only 0 48, (& S S
11 [P.T.O.



18. Match List I with List II and select
the correct answer using the codes

given below :

List I

(Name of the Schedule)

(P)

Q)
(R)
(S)

(1)

(2)

3)

(4)

Fixed Ratio
Fixed Interval
Variable Interval
Variable ratio
List II
(Responses)

Rat learns not to respond at the
beginning of the interval and
only starts responding towards
the end of the interval

Produces slow but consistent
responding

A rat will respond rapidly until
the reinforcer is delivered

Produces high rate of rapid and
constant responding

Codes :

A 3
(B) (4)
©) @)
(D) 1)

(P) (R)
2)
1)
3)

4)

S)
(4)
3)
(1)
2)

Q
o))
2)
4)
3)
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18. IET I 3mfor It II el Ao et
feciean Tehdishr=an YR I Sl o1

(P)

Q)
(R)
(S)

(1)

(2)
(3)

(4)

R |
Guriciic)

feer 7o
IESCAIGE]
GRecra ShTeta
REda TR

et 11

(wfaferam)

TRt ISR ARl S eger=A1 Tl
N o8 fymRdl ST Setegar=A
uaet  FAqfwAT  TEAr gw
B

B3 IO WA STIfRAT Sl
goash fodd WE9dd SeiR 9T
sfwa 22

siferen o emfor feeraur srgfoRan
Ll

- -
-
-

A) (3
(B) 4)
©) 2
D) D)

P) (R)
2)
(1)
3)

4)

(S)
(4)
3)
(1)
(2)

Q
(1)
)
4)
3)
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19.

20.

Which of the following statements
is correct for Craik and Lockhart

Model of memory ?

(A)

Memory consists of one system

(B) Deep processing would lead to

long term forgetting

(C) There is no independent way of
distinguishing between shallow

and deep processing

(D) Central executive guides deep

processing
‘Mental Set’ means .....ccceuveeeeennenn... .

(A) Arriving at conclusion without

conscious awareness

(B) Using the solution persistently

that has worked in the past

(C) Sudden realization of solution

to a problem

(D) Viewing objects in their

functional and customery way

MAY - 13216/II—D

19. sheh MU WAlhgesal Tdl UTEUTEIS!

20.

TTefieiesh! HIv faam o s oR ?

(A) TAHE THd IV GHET
Bl

(B) Seieptera faqRomanst (Sieter)

U TR0 YRR U IR

(C) Y 3V TE TEhIOMHEA 9

FHITITETST HI0TATEl Tads |

e

(D) ENd H&RI0ME g a3
R CNENE TG

qEfges =9 BN

(A) STSMUYUY  STIHETRI el

(B) YdhIaald gHd W QU Sl
ClEt|

(C) THEY SR 3T /a0

(D) S ST Jaferd gited aehe

qrE0
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21.

22.

Papez discovered the neural
mechanism of emotion known as
“Papez circuit”. This involved the

connection of :

(1) Cingulate cortex
(2) Hypothalamus

(3) Reticular formation
(4) Corpus Collosum

Select the correct option from the

codes given below :
Codes :

(A) (1) and (4) only
(B) (1) and (3) only
(C) (2) and (3) only
(D) (3) and (4) only

Conscientiousness and
Agreeableness scales in the NEO-PI-

R are :

(A) Uncorrelated with Eysenck’s

psychoticism

(B) Positively correlated with

Eysenck’s psychoticism

(C) Negatively correlated with

Eysenck’s psychoticism

(D) Uncorrelated with each other

21.

22.

MAY - 13216/1I—D
T WEH=l Saqt ason e faen
g IRYY 318 M. T JEraTdeh]
FHIV STIAY®R FHIOSE 3Ted ?

(1) HEfed seaeh
(2) STHTIAATATR

(3) SI=Al 99

(A) (1) (U (4) e
(B) (1) 31T (3) ek
(C) (2) Mfvr (3) ek
(D) (3) 3T (4) e

FHITEREEY 9 Fftgery a1 NEO-
PI-R Wil 9 01 ¢

(A) STEET=a hiffagmzEi F8-
Heiferd @l

(B) A &=l WrASIfefagqzl
YT T Tegs e 3Ted

(C) MR ®=al  |rAHIfefagaz
UM AT edsiea Ted

(D) WERRN Hegefed el
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23.

24.

25.

The membrane potential in the

neuron is due to :

(A) Chlorine and zinc ions

(B) Calcium and chlorine ions
(C) Zinc and sodium ions

(D) Sodium and potassium ions
Which Gestalt principle is primarily
applied while using camouflage ?
(A) Proximity

(B) Similarity

(C) Closure

(D) Contour integration

Which of the following
reinforcement schedule is the most

resistant to extinction ?
(A) Fixed ratio schedule
(B) Fixed interval schedule
(C) Variable ratio schedule

(D) Fixed interval schedule with
limited hold

23.

24.

25.

MAY - 13216/II—D

waTued favya weTe Bd ?

~ ¢

[glen Sl

(A) FAE 9

(B) fwmm 9 Fadli= =H
(C) T 9 Wifesm M

(D) difegw 9 GRfREm M

STHELOTET Y SHIAHT HHRI ShI0Td

T & ailel Sd ?
(A) gHgar
(B) @HMA

(C) g

(D) TR TEhTCHIH L]
TTATAdHT T TRUTALE  HIT
B ?

(A) TEeR TUIRR STIHET

o ha¥

(A4

(a) (a)
hHIARHI

(B) TEeR HTefiar STIg=h

(C) afedt Ui ST

(D) S greTE fEer SIerat STIE=
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26. Match List I with List IT and select

the correct answer by using the

codes given below :
List I
(Models)
(P) Exampler Model
(Q) Associative Network Model
(R) Attribute Model
(S) Prototype Model
List II
(Features)

(1) Concepts are represented by the
nodes

(2) Concepts are understood by the
implied characteristics

(3) Concepts are represented by the
abstraction of characteristic
features

(4) Concepts are represented as
specific instances

Codes :

P Q@ R ©
@A @O @ & @
B 2 B @ @
© B @ @O @
D @ @O 2 O3
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26. 9l I o7for Ay I1 IreA SISl ordl

3o Erett feerean Hehdier=am STER arg
3l El e
a1
(ITED)
(P) U™ el 91&q
(Q) HrETdlcHs Seld Uey
(R) 3TYd O WY
(S) eTfeEd WrEy
et 11
(afers=)
(1) Fwewa gfaffaea ‘Areq’ gR
=l

(2) Heheuard 31ef ORI GiwAER
B

(3) TehedArd WAty TorafeTsegren
ST B

(4) fafsre w1 Goega= gfafafac
HLA

Hehdich :

P Q@ ® ©
@ Q1 @ & @
B) 2 B @ @
© 3 @ @O @
O @ @O 2 3
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27.

Match List I with List IT and select
the correct answer using the codes
given below :

List I
(Reasoning type)

(P) Inductive

(Q) Deductive

(R) Conditional

(S) Heuristic

List II
(Examples)

(1) Deciding that a person who
wears a calculator on his belt
does not like parties

(2) If the mother smiles, then the
baby smiles; if the mother does
not smile,the baby does not
smile

(3) All cats purr. Pita purrs,
therefore Pita is a cat

(4) You know that dogs that are
foaming at the mouth and have
glazed eyes may be rabid. You
meet a dog at the street that
appears foaming at the mouth
and you conculde that dog is
rabid

Codes :

P Q@ ® ©

A 1 @2 B @)

B) 3 @ @ @

© 2 3 1 @

D) 4 @O B @
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27. T I i1 Aet 11 = ST ora Sty

et feciedn Hehdien=aT STER TRY Il

T

RIC |
(Iferare yaw)

(P) fomArcHs: o=

(Q) TrmATH® fo=R

(R) 3Tacsl fo=am

(S)

(1)

(2)

3)

(4)

T
It 11
(3ETETY)

St kil AT YZEATell haleReiel
A, Al HRY 3TESd et 319
EEL

SR 3T g9l R dles 89, S 378
g9d 8l o oidel B9d el

Hd AISKI T A, fier = o,
= fre AR o

T FATA dSIel B A 3T
Sles THHRGR ATed TUSI d R
TrgTeseie 3118 3T qreTell Hifed 3118
TG JRIeAl Teh A1 gl e
el ®E g Aa®d dl HAl
fuomeeien oe o™ qrel o

K3
-
.

A 1)
B) 3)
©) @)
(D) 4)

P) (R)
3)
2)
(1)

3)

S)
(4)
(1)
4)
2)

Q
2)
4)
3)
(1)
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28. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Thirst type/receptors)
(P) Osmotic Thirst

Q)
(R)

Osmoreceptors
Hypovelemic Thirst
(S) Baroreceptors
List II
(Mechanism)

(1) Thirst occurs when the solute
concentration of extracellular

fluid increases

(2) Thirst occurs when the intra-
vascular fluid decreases

(3) Detect the
concentration of the interastilial
fluid

changes in

(4) Detect blood pressure
Codes :
P Q@ R ©
@A O @ G @
B 2 B @ @
© o G @2 @
O @ 2 @O O3

MAY - 13216/II—D

98. Iy I 37T Il I1 Ir=a Sirel aren A1

et feciedn Hehdien=aT STUR TR Il
a1 e

RICU |
(TR /TTEY)

(P) sifgHre® qo
(Q) RO
(R) TEUegeiHIe ol
(S) Wt

arer 11

(F=rom)
(1) o1 Hie]Z Thiehivyos STesueii

SATAE  dT@ Bid  desl Ol
STurErd

(2) Siegl WA 39 FHHT Bhal deal gl
SToTerd

(3) ORI TAT ThAThLOMTe
SEeTel Hig Samd

(4) TEICETE AiG B
Hehdich :

P) @ @R 5
A 1 @ B @
B 2 B @ @
<©c @ & @ @
D @ @ @O B
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29.

30.

Research on heritability of

intelligence suggests that :

(A) heritability is more important
for achievement than for

cognitive abilities

(B) The effects of common

environment and specific
environment count for very
little on the variability in

achievement scores

(C) Common environment has the
most important influence on

achievement scores

(D) Common environment is the
most important influence on

cognitive scores

Which of the following tests

simultaneously assess the

personality disorders and the

validity of respondents answers ?
(A) MPI

(B) MCMI and MMPI

(C) MBTI and MPI

(D) NEO-PI-R and MBTI

29.

30.
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31. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Test)
(P) EPQ-R
(Q) NEO-PI-3
(R) EPPS
(S) STAI
List II
(Trait/Dimension Assessed)
(1) Openness to experience
(2) State anxiety
(3) Psychoticism
(4) Achievement need
Codes :
P Q R ©
A 1 G @ @
B) 3 1 @ @
© G 3 @ @
M B @1 @ @
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31. Il I onfor Iy I1 I SISl ord
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(Sr=ri)
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et 11
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(2) State anxiety
(3) Psychoticism
(4) Achievement need
Hehdlah :
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B) 3 1) @ @
1V 6 @ @
M B 1 @ @)
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32.

33.

Experimental evidence for
subliminal perception can be

provided by :

(A) Increase in sales of subliminally

advertised products

(B) Failure to report conscious

awareness of stimulus

(C) Ability to make accurate forced
choice decisions above chance

level

(D) Use of event related potentials
(ERPs)

What were the measures of
conditioned response (CR) in

Pavlovian conditioning experiment ?
(A) Response amplitude

(B) Response novelty

(C) Response latency

(D) Response recovery

32.

33.
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34.

35.

A person has a plan to do several
tasks during the next week, e.g. to
write a letter, consult a doctor, read
a book etc. What type of memory he

has to be engaged in ?
(A) Episodic

(B) Procedural

(C) Autobiographical
(D) Prospective

List the typical stages of creative

thinking in the correct order.

(A) Preparation, incubation,
verification, orientation and

illumination

(B) Verification, illumination,

incubation, orientation and

preparation

(C) Orientation, preparation,
illumination, incubation and
verification

(D) Orientation, preparation,

incubation, illumination and

vertification

34.

35.
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36.

37.

The vineland social maturity scale
measures :

(A) SQ
(B) MQ
(C) PIQ
(D) VIQ

Match List I with List II and select
the correct answer using the codes
given below :

List I
(Components)
(P) Products
Q)
(R)

(S)

Content
Mental operations
Dimensions of intellect
List II
(Descriptions)

(1)

Cognition, memory, evaluation,
divergent production,
convergent production

4 x 5 x 6 cube

The result of bringing some
mental ability on content

(2)
(3)

(4)

Visual, auditory, figural,
symbolic, semantic, behavioural

Codes :

(P)
A (1)
(B) 4)
€ 3)
D) 2)

(R)
(2)
3)
o))
4)

S)
4)
(1)
2)
3)

Q
3)
(2)
(4)
(1)
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38.

39.

40.

While
correlations in an ability test, which

computing inter-item

one of the following should be
preferred ?

(A) Biserial correlation

(B) Phi correlation

(C) Point biserial correlation
order

(D) Spearman rank

correlation

The vagus nerve does not regulate
this function :

(A) Taste

(B) Laryngeal control
(C) Neck sensations
(D) Hearing

In classical conditioning learning is
evident when a :

(A) Stimulus
produces a response without a

automatically

prior history of experiences

(B) Stimulus which did not initially
produce a response now elicits

that response

(C) Spontaneously emitted
responses increase in frequency

as a result of its consequences

(D) Subjects repeat an action they
have observed in another if

praised for it

38.

39.

40.
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Question Nos. 41 to 45 :

In the following questions, each

question has two statements —

Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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41.

42.

43.

Assertion (A) :

Studies have shown that continued

conflict deteriorates
health.

physical

Reason (R) :

A frequent outcome of prolonged
stress is the production of gastric

ulcers.
Assertion (A) :

Those personality theorists who
follow factor analytic methodology
and want to focus on second-order
factors do not rotate first-order

factors by oblique rotation methods.
Reason (R) :

Oblique rotations give correlated

factors.
Assertion (A) :

While computing the scale values of
attitude items by the method of
equal appearing intervals, median
is usually employed as a measure

of scale value.
Reason (R) :

The distribution of categories
assigned to several items is not

normal.

41.

42.

43.
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44.

45.

Assertion (A) :

Dopamine release is triggered in
addictions at the time a dose is

expected but omitted.
Reason (R) :

Dopamine system responds to the

unpredictability of rewards.
Assertion (A) :

It is difficult to assess creativity in
traditional personnel selection tests
using multiple choice questions
(MCQ) format.

Reason (R) :

Creativity is related to intelligence

but not with personality.

Instructions for questions 46 to 50 :

Read the following paragraph and

answer the five questions that follow :

Paragraph : A researcher in
psychology of stress hypothesized
that the stress would adversely
affect the performance on mental
tasks. One hundred and fifty
subjects, 75 boys and 75 girls,
studying in the twelfth standard, in
the age range of 17 to 19 years were
employed in the study. All the

44.

45.
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46.

subjects were in the IQ range of 85
to 115. Three groups of equal size
were formed by random assignment.
Group I performed under high stress
condition, Group II performed under
moderate stress condition, and
Group III performed under low
stress condition. Each subject was
instructed to solve 30 simple
numerical problems in the allotted
time of 60 minutes. The mean
number of correclty solved problems
were seventeen, fifteen and thirteen
respectively. The intergroup mean
differences

were statistically

significant.

The variable ‘intelligence’, in the

above study, can be labelled as :
(1) Behavioural variable

2)
3)

Continuous variable
Controlled variable

(4) Organismic variable
Choose the correct option :
(A) (1) and (3) only

(B) (2) and (3) only

(C) (1), (2) and (3) only
D) (2), (3) and (4) only

46.
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47.

48.

Which of the following statistical
method would be suitable for
evaluating the intergroup mean

differences ?

(A) Paired samples ¢-test

(B) One-way ANOVA

(C) Two-way ANOVA

(D) Repeated measures ANOVA

Which one of the following
conclusion can be drawn on the basis

of the above study ?

(A) Researcher’s hypothesis has

been rejected

(B) Researcher’s hypothesis has

been partially accepted

(C) Researcher’s hypothesis has

been accepted

(D)

Inadequate data to evaluate

researcher’s hypothesis

47.
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49. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Type of Variable)
(P)

Q)
(R)

Independent variable

Dependent variable

Controlled variable

(S) Discrete variable

List II

(Variable)

(1) Subject’s gender

(2) Subject’s education

(3) Stress level

(4) Number of numerical problems

solved by the subject
Codes :
P @@ ® ©
@a 3 @ @ @
B) @ 3 @O @
© @ 3 @ @

M 3 @ @O @
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statements—an Assertion (A) and a
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your answer using the codes given TGl Hehel STTe W ST T ©
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(D) (A) is false but (R) is true
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